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for the questions.

Answer either in English or in Assamese.
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Answer as directed : : 1x10=10

(a) What is the full form of AMRUT ?
AMRUT’T 9 <ot & 2

(b) Joint . sector has been evolved in India
'followmg the recommendation of

(Fill in the blank)
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(c) What is the limit of investment in plant &
machinery in medium enterprise prescribi
under MSME Act, 2006 ?

2006 5. MSME wi% S o5
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’ | ‘at ——. (Fill in the blank)
(d) Which kind of organisation pre-suppos| :
' knowledge as a prime source of compet1t1 afes | (A 2B 7 FN)
advantage ? o : :
4 ‘.
@I 41T IR G fScaiTel RN ¢ ure entrepreneur ?
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(e) Who is associated with the concept |
Optimum firm ? —— (Fill in the blanks

é (& 2

8 =

;'v#'i on the following :  2x5=10
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(f) Who defined entrepreneur as an econom
man ?
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! (g) Inwhichyear Government of Assam mtroduc
i entrepreneurshlp development programi
under the scheme "Half a Mllhon-Job" 73

| entrepreneur

i productivity

- "Half a Million-Job" &i%% SIS ST 53k GeserTieTel
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(iv) NIESBUD

ARSI :

(v) Rationalisation
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3. Answer any four of the following questions :

5x4=

Wﬁmwﬁﬁwﬁﬁm

(a) State five points of distinction between Vi :

and Trad1t10nal Organisation.

location.
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with appropriate examples.
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™ ite effectiveness of EDPs ?

& SRS @ Hot

tole of creativity and innovation
ieurship.

@ different types of venture capital.

Nl TS Rfes aRER a]'T'Qm

ﬂy the various challenges faced by the
,ﬂle host country. i 10

- Or / izl |
: nchising is becoming increasin;gly popular
tketing strategy ? What precautions would

jggest for making franchising successful ?
3+5=10
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How the size of a business unit is measured 2 W
such measurement is considered essential w
the present era of global competition ? 6+4
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il the institutional, financial and
stovided by the Government of
" omotlon and development of
: 5+3+2=10

ﬁmﬁ?ﬁmmw

What is production management ? Outline
scope of production management in Indian conté

3+
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legal formalities that are to be'
¢ establishing a new enterprise ? 10
& .

How an entrepreneur is different from a manage
Why entrepreneurship has become a soc
movement today ? 6+4=
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Explain in detail the Tnnovation Theory of J 0s¢
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